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ELEMENTARY EDUCATION COMPLETION CERTIFICATE EXAM 2025

CLASS -8
Subject- English
Sample Paper

Duration 2:30 hours Max.Marks — 80

PART- |
Objective Type Question

Choose the correct option from the given options-
Q-1. Inside the box, there was ........ccccceevvvvveeeeeiinnnen. envelope.

(a) a (b) the (c)an (d) none

Q-2. Which of the following is not related to the word 'Kingdom'?

(a) Prince (b) King (c) Minister (d) Crop

Q-3. Which of the following underlined letters has a different sound?

(a) War (b) Car (c) Far (d) Bar

Q-4. 1 WaS...uueeeeererernrrinnnnnnnnnns on the stone paved road.

(a) had walked  (b) walking (c) have been walking (d) walks

Q-5. The people ..o live next door are good neighbours
(a) who (b) what (c) where (d) when
Q-6 Rahul jumped...........ccceeee. the swimming pool.
(a) in (b) upon (c)into (d) on
Q-7 YOU..ootiiiiieeiee e, not speak loudly in the hospital.
(a) would (b) must (c) could (d) none of the above

(1)
[ ]

(1)
[ ]

(1)
[ ]

(1)

(1)
[ ]

(1)
[ ]
(1)
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PART- Il
Very Short Answer Type Question

Q-: 8-11 - Complete the passage given below using the correct words from the bracket —(4x2=8)
[ known , bravely, freedom-fighter, married, Jhansi ]

Rani Lakshmi bai wasagreat ........ccoeeeeevieeiereeeviree, of India. She is......cccoevvrreeenn.
................................. as Jhansi ki Rani. She was .......cccceeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeen. to Raja Gangadhar
Rao. Lakshmi Bai fought very ......ccccoovvviieiiiniiii e with British to save Jhansi.

Q-12 Write the opposite gender of the following words - 1+1=2

Ans (a) Gentleman -

(b) Horse -

Q-13 Write the missing letters in the following words- 1+1=2

Ans (a) L_op_rd

(b)C.n_ma =

Q-14 We Should wear a helmet while driving vehicles ..........ccccovvvvvnnnnnnne. we may avoid an

accident. (so that / while) 2
Q-15 Fill in the blanks with the help of words given in the bracket. 1+1=2

(left, right, drink , stop)

(a) One should walk on the........cccceeveeiiiiiiiiinnnnns side of the road.

(b) One should not ...................... while driving.
Q-16 Arrange the following words in a proper order to make meaningful sentences 1+1=2

(a) was/The old lady/sitting/in a wheelchair

(b) an honest/boy/Mohan/is
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PART- Il
Short Answer Type Question

(A) (Q. 17-18 ) Read the passage carefully and answer the questions given below-

All these thoughts led me to question myself as to why people climb mountains. It is not
easy to answer the question. The simplest answer would be, as others have said."Because it
if there." It presents great difficulties. Man takes delight in overcoming obstacles. The
obstacles in climbing a mountain are physical. A climb to a summit means endurance,
persistence, and will power. | have been attracted by mountains. | had been miserable, lost,
when away from mountains, in the plains. | believe that mountains are a means of
communication with God.

Q-17 (a) What does a man takes delight in? (2)
Ans:
(b ) What does the narrator ask himself? (2)
Ans:
(c) Which kind of belief does the narrator have? (1)
Ans:
Q-18 (a) What according to the narrator "A climb to a summit" means? (2)
Ans:
(b) What attracted the narrator? (1)
Ans:
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(c) Identify and write the opposite of the words given below from the passage- (1+1=2)
Lo difficUlts oo
II. give L et e e e et e e tere e e e rrer e e e e eerr e aaaaees

(B) (Ques. 19-20 ) Read the passage carefully and answer the questions given below-

Thirteen year old Meghna was swept away along with her parents and seventy seven
other people. She spent two days floating in the sea, holding on to a wooden door. Eleven
times she saw relief helicopters overhead, but they did not see her. She was brought to the
shore by a wave and was found walking on the seashore in a daze.

Almas Javed was ten years old. She was a student of Carmel Convent in Port Blair where
her father had a petrol pump. Her mother Rahila‘s home was in Nancowry Island. The family
had gone there to celebrate Christmas. When the tremors came early in the morning, the
family was sleeping.

Q-19 (a) How many people swept away with Meghna? (2)
Ans:
(b) Why was Meghna not saved by relief helicopters? (1)
Ans:
(c) Read the passage and write plural of the following words: (1+1=2)
T o =1 (o] o) =T USRS
.  Year D ettt e ettt e eet e eet ettt e et eereeaataeeetrreaaaraaans
Q-20 (a)Who was Almas Javed and where did she study? (1+1=2)
Ans:
(b) When did the tremors come? (2)
Ans:
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(c) Read the passage and write one word for given sentence: (1)

A person's father and mother-
P

(C) (Ques. 21-22 ) Read the passage carefully and answer the questions given below-

One of the greatest mysteries of bird's life is travelling. Every year during autumn
and early winters, birds travel from northern region of Asia, Europe and America to the
southern warmer land. They make the return journey again during spring and early
summer. They are very punctual unless they are delayed by bad weather. They face many
dangers and hardships while travelling long distance. Sometimes sudden storms arise
and drive them far out of course. At night, bright lights attracts and confuse the birds.
They cannot fly at their fastest.

Q-21 (a) What do birds do every year? (2)
Ans:

(b ') What is the greatest mystery of bird’s life? (2)

Ans:

(c) When do the birds make their return journey? (1)
Ans:

Q-22 (a) Why can’t they fly at their fastest at night? (2)
Ans:
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(b) What difficulties do the birds face while travelling? (2)

Ans:
(c) Identify and write one word for the given sentence. (1)
I Doing something at the right time. (not late)
P
1. Very bad weather with a lot of rain, strong winds, etc.
S e s
Q-23 Rearrange the following sentences in correct sequence - (5x1=5)

(a) Quit India movement started in 1942.

(b) The Constitution of India came into effect in 1950.

(c) Dandi March started on March 12, 1930.

(d) India got independence in 1947.

(e) Jawaharlal Nehru became the first Prime Minister of India

Ans-
(a)
(b)
(c)
(d)
(e)
PART- IV
ESSAY TYPE QUESTION

Q-24 You are Arijeet/Divya studying in Alwar. Write a letter to your mother telling her about
your studies. (10)

(You may use the following clues)
I.  How are your studies going on?
Il.  What are the facilities in school?

IIl.  What are you doing to improve your studies?
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Ans-

2025

My

Yours

OR

Imagine you are Abhijit/Pranavi studying in Government Upper Primary School, Jodhpur.
Your father has been transferred to Bikaner. Write an application to your Headmaster
requesting him to issue you a Transfer Certificate.

2025

Subject -

Respected Sir/Madam

Yours
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Q-25 Write a short paragraph on 'Save Trees' (1+8+1=10)
(You may use the following clues)
(best gift of nature, provides, intakes, fruits, wood, reducing pollution, supports
ecosystem, rainfall)

Ans-

OR

Write a story in about 70-80 words with the help of the given outline-

Two friends and a bear ........c.cccoe.....e. 8OING .o, forest cocevvvvvieeeiiiiien promise to
help...coceerennnnee. see a bear. One climbs up atree .......ccccceenneee the other does not know how
toclimb....cceeeeeee. lies down on the ground ....................... bear smells him
............................. takes him ......ccceeevvvvvvveeeee. dead oo cecceeennneeee.....goes freind comes
down....cooevrrrrerreeeenn. asks what did bear say .......ccoceveeveeernnnnn. don’t rely on false friends
................................... feels ashamed.

Title -


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

- Moral
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U 1

IR 2

U 3

IS e (1-8)

Objective Type Question (1-8)

IR H=ARil & forv Isy doadd 8—
()1 (1) 0
(&) -1 (g) 3

The Additive inverse of a rational number is-

(A)1 (B) 0

(C)-1 (D)3

Rad FNHOT B A BT T

(eF) Dl U (3) 3

(%) PIS B TET (z) ST A& PR Fhd
The solution of the linear equation are-

(A) Only one (B) Many

(C) No solution (D) Can't find

1 ¥ ¥ o fAeey 9 8-

(a7) Y 3T I BT ® (3) T I FAFR IS T8l B ®
(w) Al 7 Ao gyt B & () 9l U W9 agyst Bd ©

Which of the following option is correct-

(A) All rectangles are square (B) All squares are not parallelogram

(C) All squares are trapezium (D) All kites are rhombus


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

ued 4 9§ 9§ SR dem gt ot G g
(a1) 1057 () 7928
(%1) 2453 (=) 1681

Which of the following number is a perfect square number-
(A) 1057 (B) 7928
(C) 2453 (D) 1681

Ue 5 1 § 9 999 BIC! BIS] Mo 9&IT 8-

(31) 4104 (9) 13832

(|) 1729 (2) 59 | BIS 8

Which of the following is the smallest hardy ramanujan number-
(A) 4104 (B) 13832

(C) 1729 (D) None of the above

U 6 5 HIeX &I 10 fhaMies | Igud &—
(31)5: 10 (1) 1 : 2000
(&) 5 100 (®)1:2

The ratio of 5 meter to 10 kilometer is-
(A)5: 10 (B) 1 : 2000
(C)5 : 100 (D)1 : 2

U 7 (-4p) &R (7p) &1 OGS 3—
(a7) 28p° (4) -28p
() -28p° (2)-11p

The product of (-4p)and (7p) is—
(A) 28p° (B) -28p
(C) -28p° (D) -11p

e 8 (-4)2 &1 99 28—

(@) — ¢ @) -3

(&) 16 (®) —



The value of (-4)2 is—
1

(C) 16 (D) —= [ ]

SAfCTTERIAD U2 (9—12)

Very Short Answer type Question (9-12)

4 3
W:Q_EX; BT 79 1A HITTY | 2

3

. 4
Find the value of -z X -

3I<X / Ans

U: 10 FHIGRUT 4x +3= 6+ 2x DI & PIIY | 2
Solve the equation 4x+3= 6+ 2x
<IN / Ans

Ue: 11 AMGl U 899 G910 © O 4old 5cm, 2cm 3R 5cm & | T &
I & oY U ot gem™i @l saeddar g | 2

Manvi makes a cuboid whose sides are 5cm, 2cm and 5cm. How many such type of
cuboids are needed to make a cube.
3<IX / Ans

Ue: 12 DIs ax] 18 UM SILUE.Sl. Ao &_- @ 918 T 1239 H TRIGT I8 | SILUH.El.
Siied ¥ Usel 99 d%] BT Jod ST HITSTg — 2
An articles was bought of Rs 1239 including 18% GST. Find the price of an article

3



before adding GST.
<IN / Ans

TERIHS Yo (13—22)
Short Answer type Question (13-22)
Part- A(13-16)
ge: 13 FrEfaRad derAl o g 9 /I H ¥ Sugad R (V) sifdhd SITT (4X1=4)

(i) am = a® = a™m*™ (77 / o)
(i) 273 = % (A / 31 99)
(i) a© = 1 (T / 3rc)
(iv) 0.0016 &T A9® 9 1.6x10* B (I / 3:9)

Read the following statements and mark (V) against True/False:-

(i) a™ + bt =agmtn (True/Flase)
(i) 273= % (True/Flase)
(iii) a°=1 (True/Flase)
(iv)  The standard value of 0.0016 is 1.6 x 10* (True/Flase)
ge: 14 Rad vl @ gfid Sifm— (4X1=4)
Fill in the blanks-
(i) U B BT YSII &Fhel SHD BAD! & ATBEAT D ART D oo BT ® |
CNENVSY)
The surface area of @ solid iS.......ccccvveeeiveiiiiee e, to the sum of the area of its faces.
(equal/big)
.. 3 2
(ii) T BT TST ST, BT 21 (o) / 6(qeT)’)
The surface area of a cube is.....ccccvvvverveiieeieeieiiiiiiinnns ((side)?/6(side)?)



T IR R [ @ S_TER BT § | (1000cm?® / 100cm?®)

One litre is @qUAl t0.....ceveveeeriieteeeteecee e (1000cm® /100cm?)
(iv) T ST GRT ORT AT T HEATT & | (E3hel / M)
The space occupied by a solid is called..........ccccceveveveeeereereenneee. (Area /Volume )
Ue: 15 &R 7 B W T AT BIfi— (4X1=4)
Match Column ‘A’ with Column ‘B’
= 1 ™ q
Column ‘A’ Column ‘B’
(a) a x (b+c+d) (1) a’bc + ab’c + abc?
(b) (x+y-5)x5xy (2) ab + ac+ ad
(c) (4p+1)(0) (3) 5x%y + 5xy” - 25xy
(d) (a+b+c)(abc) (4)0

U 16 Udh AT & @ faft=t asf & @1 w18 9wt =1 smere g1 <wifg g 2
(4X1=4)
The following graph shows the yearly sales figures for a manufacturing company-

(i) a¥ 2012 & fapy fbasr fi?
What was the sales in year 20127



<IN / Ans

(i) I 2016 # famr fa=n N7
What was the sales in year 20167.
3<X / Ans

(iii) T¥ 2012 TT 9Y 2013 BT fAfhar H b= =R or?
What was the difference between the sales in 2012 and 20137
3I<X / Ans

(iv) Fa9 31 faw fhe af # gg?
Which year had the highest sales?

3N/ Ans
Part-B
TERTHG U (17—22)
Short Answer type Question (17-22)
U 17 UP UISNIRG 36 S1d ST, S th 96 B! 9T 12 & — 4

Find the pythagorean tripet, whose one smallest number is 12.
3<IX / Ans

Ued: 18 YD <l 321,000 H TRIGT TAT| Yo 99 UL Sl & Hed H 5 UfIerd iaqed &
1, U qY U I BT Hed 1 Hifery | 4
A TV was bought of Rs 21,000. After one year the value of the TV was depreciated by
5% (Depreciation means reduction of value due to use and age of the item). Find the
value of the TV after one year.

3<IX / Ans




e 19 Ud Hhag] I HB awU 63 & # 99 & foy 42 7=l $1 sawaedr skl 2 |
I B AU 54 e H g9 & U fha=l HeiAl &1 srmawaear sRlT | 4
A factory requires 42 machines to produce a given number of articles in 63 days. If the
same number of articles are to be made in 54 days then how many machines are

required.

<IN / Ans

UT: 20 AP x( x - 3)+2 BT A PIFIY | TAT x= 1S ol 719 1 @ Hifeq | 4
Simplify the expression x( x - 3)+2, also find the value at x = 1.

<IN / Ans

U 21 TP W § 22 JoFTHR T B, Tdh G &) f3oar 21 9 3k $91E 6 Hiex 81 38
gfd e & R ¥ B @™ B 96 I8N SAhd W US IRM BT I WG
DI | 4

In a building there are 22 cylindrical pillars. The radius of each pillar is 21cm and height
is 6m. Find the total cost of painting the curved surface area of all pillars at the rate of
X8 per m?

3N/ Ans




Ue: 22 T AIfeiedT &1 WART 3R XRae afere §1sy | faft=T anf # &t TR 3 gelemsil
P I 59 PR B— 4
Draw a linear graph using the following table. Number of accidents occured in

different years in any city is as follows.

q9
2013 2014 2015 2016
Year
g. 80 100 150 120
Accidents

<IN / Ans



aTee U3 (23—25)
Easy type Question (23-25)

Ue: 23 W faw @ A v e g o g RAf= axgell o Ao (wo=t #) = & 18

2 | 8
TY REINCRCIR)
fbepe de 3200
hedicl 800
CIGIEIG] 1600
e 1200
S| 400
Bl 7200
39 3idel B Th U1s dIc a8 |
On a sports day, the sales (in Rs) of different item of a particular shop are given below.
Items Sales (in ruppee)
Cricket Bat 3200
Football 800
Volleyball 1600
Ball 1200
Others 400
Total 7200
Draw a pie chart for this data:

<IN / Ans




AT

OR
TS 92 §RT U o # famn mar a9y 9 UaR ¥

feerat L)
Bk 8 ©cT
ERIGE] 6 ©c
TEHT 4 ©c
eIl 4 ©c
3 2 ®¢
g 3ids! BT T@ U a1e I3 |
The time spent by a child during a day is as follows.
Daily Schedule Duration
Sleep 8 hours
School 6 hours
Home work 4 hours
Play 4 hours
Other 2 hours

Draw a pie chart for this data:

<IN / Ans

10




U : 24 foell SR AT B I M DIV & AIY TWIER & | TARR TGl S T4 DIoji
® A ST BT | 8
Two adjacent angles of a parallelogram have equal measures. Find the measure of
each of the angles of the parallelogram.

I
OR

JAMGHIA HELP Tob FATR =gyel & fT9H OE = 4cm 3R HL, PE ¥ 5cm 318 & | OH

ST DIfoIY | 8

Figure HELP is a parallelogram in which OE = 4cm and HL is 5cm more than PE. Find

OH.

P L
0}
H E

3<IX / Ans
ue: 25 fmfoiRad oal @& [oH@Ts Biforg— (4X2=8)

Factorize the following expression.
(i) x+7x+12

(i) x-8x+16
(iii) y'-16
(iv) 4x"-8x+4

11



3T
OR
fr=feRe vl @ ToFETe Hifog—
Factorize the following expressions
() ¢°-10qg + 21
(i) p’+6p-16
(iii) m*- 81

(iv) am’ + bm’ + b’ + an’

IR / Ans(i)

(4X2=8)

(i)

(iil)

(iv)

12



ROUGH WORK

I BRI

13
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TR gea (1-8)

Objective Type Question (1-8)

f Ry T fae § W G Ribeu -

Choose the correct option from the given option

g1 ufrafre / el YRR A /A1 7 Ed d— (1)
(31) 1942 # (@) 1946 #
() 1947 H (&) 1948 H

Colonial/royal Indian navy did mutiny in-

(a) 1942 (b) 1946
(c) 1947 (d) 1948
[
7o 2 "IRA" v A Ay 2 (1)
@) a9 H T IR Wl HAT @) af § TH IR Tl HRAT

() S DI HB FHI B Y Grell Bl (]) 379 | B ol [

The word "fallow" means-

(a) Cultivation twice a year (b) Cultivation once a year

(c) Leaving the field uncultivated for sometime (d) None of the above [
Ue: 3 ol AT BT BRE 2 (1)

(@1) ST gared (@) a1 BT TS

(%) Sterarg () Sua w4 [


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

The factor that causes soil formation -
(a)Organic matter (b) Composition of soil
(c)Climate (d) All the above

U3 4 U QI BT SAEdT fIRIAE SMER WX ISl © daifd—
(e1) ST=1 T g &R QAT TSl © (@) T R ET T Jg R A ©
() ST &R HH 9 g X W&l © (8) 1 9 997 R IHI 8 P ©
The population pyramid of a country is broad at its base because -
(a) Both Birth and death rate are high  (b) Birth rate is high, death rate is low
(c) Birth rate is low, death rate is high  (d) Both Birth and death rate are low

ge: 5 Tfeardl WYaTg AToifded & forg feiRk o

(@1) ST W @) ReR )

() ‘*r 3R ‘9 TAEl W (3) ST H | Py ol
Tribal community were dependent for livelihood on-

(a)Forest (b)Hunting

(c)Both ‘@’ & ‘b’ (d)None of the above

e 6 Irars rff gk fham ar—
(31) 1925 (@) 1950
(|) 1986 () 2001

The child labour act was passed in-
(a)1925 (b) 1950
(c)1986 (d) 2001

;7 WRTST fdd bl Hafed far—

(@1) ferarsh 7 OESINEE

() ARG = () AT HevE™
The maratha power was organised by?
(a)Shivaji (b) Bajirao
(c) Madhavrao (d) Nana Fadnavis

o 8 URMR I Sad g e d Rerg 8 7

(31) SR @) SR

(%) \arg AENgR () SeagR
Where is the Ranthambore national park situated?
(a)Jaipur (b) Jodhpur
(c) Sawai Madhopur (d) Udaipur

[


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

JAfATLRIADS I

Very Short Answer type Question

Ue: 9 BICH ¥ Y T wkl # 9 I g 1 999 ax Raw = @ il Sy —

( ST yRed, e, AgTee 17, Sax ) 4x%=2
(37) g & USS WR TMER BUN & JATARTT DBl TAAT TR HEAT ¢ |
() 9f 1000 fFTAT TR SAT T BT T HEA T |
() T D o & AR GBI &1 S~ fHar ST IdT € |
(@) FREd afd § TR § 3T TEATT Bl P o

Fill in the blank by choosing correct words from the given bracket-
[ Population change, soil, article 17, birth rate ]
1- The thin layer of grany substance covering the surface of the earth is

[oF: |1 [=To S .
2- The number of live births per 1000 thousand persons is called..........cccccveeeeeeiieiiiniiiiiinnnnn, .
3- According to article ........cccoevveevrrnnrineeeennnnn. Untouchability has been abolished.

4- The change in population over a specific period of timeis called .........cccvvveeeeeeeenin. .

EI'%:TZWQT‘IWT'ST'EFFW'EI'@&IWEMQQ— 4X%=2
RSRR W q
(1) M & I g AR (A) STet
(2) a9 MEHR AT (B) g HHEA [l
(3) HEYUl AIHRONT HHTEA (C) 2006
(4) STeToTIfY (D)t
Match Column ‘A’ with Column ‘B’
Column ‘A’ Column ‘B’
(1)The greatest resources of nation (A) Water
(2)Recognition of forest rights (B) Human Resources [people]
(3)Major renewable resources (C) 2006
(4)Tribe (D) Bhil


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

ge: 11 FrEfRad Hoel &1 STiaes 97 /39 3 ¥ SRad W (V) 4 x % =2

&1 forge sifbd AR

(1) wRA Y @& SreeE 21 & ATAR UMl & JAMBR Bl Silad & IMEBR Bl
T 991 T B [/ 3T]

(2) YTSREIE I SMER AT 2017 H URT B TS | [ / 3:7]

(3) 9t gTmRI 91 YSTRl ATHT &1 ST dTel fJarg &I JAHh-T @ [T/ 37|

(4) IR AIETT 6—14 Y BT Y & T Fedl Bl el & SMABR B TR=T qall
= SRVACERY)

Check the following statements and tick (V) against True/False: —
1. According to article 21 of Indian constitution the right to water is considered to be a

part of right to life. [True/False]
2. Rajasthan Jan adhaar scheme was started in 2017. [True/False]

The aim of Beti bachao-beti padhao scheme was to stop child marriage. [True/False]
4. The Indian constitution gurantees the Right to Education for all children between the

age of 6-14 years [True/False]

o: 12 BT F UAT ATHE g™ P foly T ST fby ? 2

What did the company do to increase its revenue?
I} / Ans

CTERTHD YR

Short Answer type Question

g 13 W & gg R fewol foRag— 4
Write a short note on the battle of Plassey.
3<X / Ans



https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

U 14 () THeR Teq Bl gRAMT HIRTY | 2+2=4
Define the term 'Vernacular'
3N/ Ans

(@) IRA & 9RNIE IR FATS GRS & M iRy s afgaren @ Rafa § gur
& g fhu—
Name the famous social reformers of India who tried to improve the

condition of women. (any four)
3N/ Ans

U 15 HaT FFIART | 3 1 FHIA 87 HaT WREV & o7y MU T SR BA? (4)
What do you understand by soil degradation? What measures will you take for soil
conservation?

3N/ Ans



https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

UT: 16 FAIHRONT G | 3 R FHS 87 S8}Vl Afd FHssy | (@)

What do you understand by renewable resources? Explain with examples.
3<dX / Ans

U3 17 XORAE & AR | 949 § 9 B3 IR M1 ®I 50—
(TR, SR, PICT, divFars], TIHIR) 4x1=4)
Mark any four places from the following on the map of Rajasthan.

(Bikaner, Jaisalmer, Kota, Banswara, Hanumangarh)
3R / Ans


https://whatsapp.com/channel/0029VadqQpq6hENvYjljCv0s

UeT: 18 SENT &7 37 gard gy fafmior &1 wwsy | (a)

Explain manufacturing by giving the meaning of Industry.
3R / Ans

U 19 ST T & WU ¥ B 1 ST 8?2 TAT 59 BHA DI ST DI ATGLAD AFHT
gRRerfeal &1 \HsTSy— (4)
Which crop is known as golden fibre? Explain the necessary climatic conditions required
for its growth?

3<IY / Ans

UI: 20 FHAT B SMABR Bl IRAT HIFY | (4)

Describe the right to equality.
3<X / Ans
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3R / Ans

3<X / Ans

U9 21 ARG Ao # o FRUeTdr o7 fod geR aHsmar T 82 (a)
How is secularism explained in Indian constitution?
3 22 (i) YORM @ 8UEHRET ST IR feweh forlRay— 2)
Write a short note on the handloom industry of Rajasthan.
(i) fBfT & o9 T FHST ® ? 2)

What do you understand by 'Phishing'?
3R / Ans




IGEL IR G RG|
Essay type Question

ge: 23 (i)dTer 9IS | 9IRS STl Bl i Hd UTa §g? (4)
How did the partition of Bengal give momentum to the Indian National movement?
(ii) 1857 1 ifd & TR AR AT YOTTell § IT—AT daaig fbd T0? (4)

What changes were made in the Indian administration system after the revolt of 1857?

34T
OR
(i)Rfete FamE R el faRkay | (4)
Write a short note on Rowlatt Satyagrah.
(ii) 39 & IO J—HAT § FAUY BRAT @ oIy S 1 7 fdham ? (4)

What did the British do to force the rebellious landowners of Awadh to surrender?
33N/ Ans




U3 24 (i)9Rd # SETerdl @ AREAT B FHSST |
Explain the structure of courts in India.
(i) < H BT a9 BT UfhdT dT FASTSY |
Explain the process of law making in parliament.
AT

OR

(i) priurferdr & fbd yeR T Sl 82 FHsmgy |
Explain how does parliament control the executive.

(i) Tad = =IrauTferdT @) ARy FHssy |
Explain the characteristics of independent judiciary.

3N/ Ans

10



ge: 25 (i) IRAT H 1857 @ Hifd B FEHAN & TG BRI BT qui HITSTg | (4)

Explain the main reasons for the failure of revolt of 1857 in Rajasthan.

(i) fewoft ferlRau 2+2=4
Write short note-
(31) oI forE Ferr et (@) TR gemad
(a) Rajasthani painting style (b) Urban administration
3T
OR
(i) 1857 @ Hifd & IORAM H YAR BT AT | (4)
Explain the spread of revolution of 1857 in Rajasthan.
(ii) fewolt faRay | 24+2=4
Write short note -
(@) ™ gErd (@) o H Ffchwan
(a) Gram panchayat (b) Sculpture in Rajasthan

3<IX / Ans

11
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IS UeT (1-8)

Objective Type Question (1-8)
ge e | 9§ Ri=ms @ myfe fafyr 2

(61) Sl @) wee !
(w) fgu o= GRESINENNEICIE ()
The modern method of irrigation is-
(a)Dhekli (b) Rahat
(c)Drip system (d) Moat(pulley-system) [ ]
ye2 A9y &= # U S 9Tl US—U1Y dEerd 2 (1)
(3F) HrofraTe (@) aereferSTd
(@) e e (@) Tepera=T g ()
The plants found in a particular area are termed as-
(a) Fauna (b) Flora
(c) Endemic species (d) Endangered animals []
Ue:3 TSl T WOSRYI IR AT DIci ¥ JRel & ford 9 # A fhdsr Iuam
RopaT OTTelT 27 (1)
(61) 1 T el Tt (@) wrgal
() ? 3R ‘93l (T) SRKP § & PIg T8l ()



UR:4

Which of the following is used for protection from insects during the storage of food grains?

(a) Dried neem leaves (b) Silos
(c) Both 'a' and 'b' (d) None of the above [ ]
TRI § B M arell Adifeih Sod AU BT 389 B AT 27 (1)
(&) Tl (@) raret
() DI (@) TS ()
Which is the high-category fuel mostly used for homes?
(a) Wood (b) Coal
(c) Kerosene (d) LPG [ ]

9:5 Iaqd H Udd) Tsdh] & A0 H BIddR & WF IR g Ueiferad Sdre &1 YART

fopar rar 27 (1)
(o) faga (@) fst A
(%) St () ¥iEd o ()
Which petroleum product is used these days for surfacing of roads, instead of coal-tar?
(a) Bitumen (b) Paraffin wax
(c) Diesel (d) Lubricating Oil [ ]
g6 fhell Yy &) URh & URATNT & S A YA R @6 fBar S 27 (1)
(87) yepra oI (@) Reex gwrm
GIRUEEN (<) argaTaHT ()
On which scale is the power of an earthquake expressed in terms of magnitude?
(a) Seismograph (b) Richter Scale
(c) Water heater (d) Barometer [ ]
ged:7 AT IUU §RT 94 el 9% &1 vfdfem dar s <ar 272 (1)
(1) Seer (@) e
(#) a%g & ®BicT () a%g W e (



How does an image look formed by a plane mirror ?

(a) Upside down (b) Erect

(c) Smaller than the object (d) Bigger than the object [ 1]
Ue:8 W3 B 98 PIAl 9N &, Sl 9 P AR I UeM H_al 27 (1)

(67) gaett (@) aReRer

() >Ifa (@) e ()

Which part of the eye gives it a distinctive colour?

(a) Pupil (b) Iris

(c) Cornea (d) Retina [ ]

IS e (9—12)
Very Short Answer type Question (9-12)

geT: 9 faw, Jewoidl | fhd UeR = 81 8 ? HHSSy | (2)
How are viruses different from microorganisms? Explain.

3<X / Ans

TeT: 10 SEF & d8d SUANT A YITERU R FIT BISHRS UG Tedl 57 (2)

What harmful effects are caused on environment while increasing the fuel consumption?
3TN / Ans




ge: 11 RS RIY] & 9 & ol {5 ddbiie &1 YAnT fhar Siram &7 (2)
Which technique is used for the birth of test-tube baby ?
3<X / Ans

g 12 FRIfecar & &3 H /e 9wel & I Ha™ Ud FeM & oY {6y geR @ @ &
SUBRY BT YT fhar Srar 87 (2)
Which type of sound equipment is used for investigating and tracking medical

problems ?
37N / Ans
TERRIHD U (13—22)
Short Answer type Question (13-22)

o 13 W 7 BT W™ T A e difore— ax1 =4

RRe Y W g

(a7) & 1 IRRE

OREINNIEE 2 STraT]

e 3 TR

() Tiferar 478 B [

5 s} &1 U



Match Column 1 with Column 2

Column1 Column 2
(a) Cholera (1) Virus
(b) Antibiotics (2) Bacteria
(c) Fungi (3) Streptomycin
(d) Polio (4) Rust of wheat

(5)Yellow vein mosaic of lady finger (Okra)

e 14 O S84 9 Wd: g8d § R fIRay | (4)
Differentiate between rapid combustion and spontaneous combustion.
3R / Ans

Ue: 15 BICd 1 o T Tl H 9§ I wed &1 999 IR Rad WiHl @ gl ifoig—ax1 =4

( AR, TRUTAR, ORA, B, TS )

(37) frEY BT Selest Uete UG Urell B BT UBAT oo FHEAI T |

() Sraifsd Ud fAAT SIY Ul BT SSTIT SITAT B, T oo PEd T |
() AU IS ST DI FAT TR oo ST |

(@) ST BT A A ST BT oo FHEAT T |

Fill in the blank by choosing correct words from the given bracket-
[ Threshing, weeds, float, crop, ploughing ]

1- The process of loosening and turning of the soil is called .........cccoocveeeiiiiiiiiiiennnns

2- Unwanted and uncultivated plants are removed,which are called ...........ccccevvvviveinnnnnnen. .
3- Damaged seeds Would ..........oevviivviiiiiiiiiiiiieieeeeeeennn, on the top of water

4- Separation of the grains from the chaff is called ..........cccccovevvviirivveiiins .



g3 16 fA=foIRad UeHl & SR U g § <IfTu—

Give the answers of the following questions in one word-

(@) daR=T # TNIRS uRadw fhas grT M g €2

4x1=4

(a) By whom are the physical changes in the body controlled at the onset of puberty?

(@) qTg G BT B B B & gRT fhar Srar 22
(b) Which hormone helps the body to adjust to stress?

() TE & IMTHRS aIRA BT =T 4 fafag |
(c) Write the full name of the virus that causes AIDS .

(&) Taex T foa Ufy & HdfeT g2
(d) Goitre disease is related to which gland?

g 17 fA=faRaa weml & @M 9 [T] /8ma [F] faRaw —

Mark true (T) or false(F) for the following statements.

(@) =a T1 I Al B ARI W @ T A |

(a) Liquids and gases do not exert pressure on the sides of the container.

(@) st BT gRHToT qer fawm S 8 § |

(b) Force has both magnitude and direction.

(1) T SMART axg IR 9% BT BT Bl 2 |
(c) One charged object attracts an uncharged object.

(&) go1 foeft axg @1 favm sraxen & I § & @1 Wapar 2|

(d) Force can not make an object move from rest.

ge: 18 I A FIT A9y 87 S &l BRYN foIfay |
What do you mean by deforestation? Mention its two causes.
<IN / Ans

4x1=4

(i)




(ii)

ge: 19 "YU BART fAF 9 2 Sl 87 §9 P BT IRV gRI fAgelvor Hifsy | 2+2=4
Friction is both a friend and a foe. Analyse the statement with example.
3<X / Ans

U 20. U Qlcldh 5 HHUS H 50 IR QI HRAT o | SHDI AGRT TAT ATacdblel ST difory |
2+2 =4

A pendulum oscillates 50 times in 5 seconds. Find its frequency and time period.
3N/ Ans

T 21 YHH I & FI—IIT BRI 8?2 b A W & 9919 & foIT 39 T IR Al 57
2+2 =4
What are the causes of an earthquake? What precautions would you take to protect
yourself from the earthquake?
3R / Ans




T9: 22 3T BIVT Li 9T IR DI Lr &7 R T formy % qoizy | If Li=40° BT AT WRIdd
& FREMGER Lr BT A4F &1 81 ? 242 =4

Show angle of incidence Li and angle of reflection Lr in the given diagram .If Li=40°, then what
will be the value of Lr according to the law of reflection?

3<IX / Ans(a)

frdaTH® g (23—25)
Essay type Question (23-25)
ge: 23(31/a) USIerad dqm UTdhfde 19 & HUSR &I Arifdhd &3 a1y | 4+2+2 =8
Draw a labelled diagram of Petroleum amd Natural Gas deposits.
@/b)(i) “fawrT @& M IR geil B Berg gl off W& 7| BT B gfte BT |

"Cutting of trees in the name development is increasing".Justify the statement.

(i) vewT VA (oAl 87 A9 INR H g9a! Refa <= aren wmifed o

ERIERE
What is Adam's apple? Draw a labelled diagram showing its position in the
human body.

3ferar / OR

(31/a)TTST T FHT Uglet 3R SIoTdl g9 & IR U fo1fay | 4+2+2 =8
Write any four ways to save petrol and diesel while driving.

@/b) (i) =71 Sha marl H AR & I8 AFGR Tfafafer & R a7 Siig fR—4R &4
BT O ¥ 8| 38 ORI & & forg oy i gEma <97
Wild animals have been reducing gradually due to continous human activities in
their natural habitats. What suggestions will you give to conserve them?



(i) 719 IR # yfga U o Refq &1 gei= aren Amifea ffm a8y |

Draw a labelled diagram showing position of Adrenal gland in human body.



Te: 24 (31/a) YT T AR H YT BT AMIfhd R & FErar @ 98y | 4+2+2 =8
Explain with the help of a labelled diagram of embedding of embryo in the uterus.
@/b) (i) =T BT HH B © QT ISR fTRay |
Write two example of reducing friction.
(i) fou v R & 27 gdor R oFad 9§ | afaa fwor gdor (A) W 45°
PIOT  UR ITUfd BIal 8, U7 B W WRmEffd 89 arefl wRyafdd faxor vd
LNlclk‘i"l dIUT 15U |
Two mirrors are kept at right angles . A ray of light is incident on mirror A at

an angle of 45°. as shown in diagram .Draw the reflected ray and angle of
reflection from the mirror 'B'

31erdT / OR

(31/a) Hgd @ - dF BT AMIfbd fF gRT THSSY | 4+2+2 =8
Explain the life cycle of a frog with the help of a labelled diagram.
@/b) (i) = BT @A ¥ PR B Ahd &2 THNGY
How can we take care of our eyes ?Explain
(i) =¥ frd UBR BART A= 87 ISR §RT FHeIsT |
Explain with example how friction is our friend.




UeT: 25 (3f/a) fa=[a oo fAfer &1 Aferm avie Sy | 6+2 =8

Explain the process of electroplating with the help of a diagram.

(@/b) T =T Xevrrrrererrennens A DI R DINIY UG g BT ATHD (ol |
Complete the formula and write the unit of Force
Force = Pressure X ........ccee.....

31eraT / OR

(e1/a) 3T B ATADT & URIET0T BT & §RT AASISY | 6+2 =8
Describe the potato conductivity test with the help of a labelled diagram.

(@/b) 91 IXG @1 A BT R H gRAAT TR AHAT © | HAT BT IR0 §RT
THEATRY |
"A force can change the state of motion."Explain with the help of an example.
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